Number Bonds within Twenty ‘

Year 2 Mathematics Knowledge Organiser

11 12 13 14 15 22 11 11 22 X 2 4 3 5 10 Quadrilateral Foggztrrijgrfsitcseisdes
0 11 0 12 0 13 0 14 0 15 24 12 12 24 1 2 4 3 5 | 10
110 111 112 1 |13 1|14 26 13 13 26 2 4 8 6 10 20 Pentagon Fivlfi\ig%ig::czges
2 9 2 10 2 11 2 12 2 13 28 14 14 28 3 6 | 12 9 15 | 30
H Six straight sides
3 | 8 3 9 3 |10 3 |11 3 | 12 30 15 15 | 30 4 | 8 | 16 12 20 | 40 exagon Six vertices
4 ! 4 8 e J g 2 . Ll 32 16 16 32 > 10 | 20 15 25 | 50 A closed shape with three or
Polygon ; .
5 6 5 7 5 8 5 9 5 10 34 17 17 34 6 12 | 24 18 30 | 60 9 more straight sides
6 6 6 7 6 8 6 9 36 18 18 36 7 14 | 28 21 35 | 70 Reqular Sh A shape where all sides are
20 egular shape equal and all angles are equal
77 71 8 38 19 19 38 8 | 16 | 32 24 40 | 80
0 20 19 18 S
40 | 20 20 | 40 9 | 18 | 36 27 45 | 90 Irregular Shape |/ S"ae Wih sices or angles of
1 19 0 19 0 18 17 16
10 | 20 | 40 30 50 | 100 P
11 | 22 | 44 33 55 | 110 _ R
3 17 2 17 2 16 1 16 1 15 Has a line of symmetry \Fj ! v
12 | 24 | 48 36 60 | 120 CAD
4 16 3 16 3 15 2 15 2 14 : : ‘ R R
uarter Telling the Time
5 15 4 15 4 14 3 14 3 13 QTum e Does ngnfq]?r:/;rilline of /7 j
e minute nan
6 14 5 14 5 13 4 13 4 12 quarter past points to threg and the
7 | 13 6 | 13 6 | 12 5 | 12 5 | 11 T oL TS
' 3D Shapes
8 12 7 12 7 11 6 11 6 10
The minute hand
9 | 11 8 | 11 8 | 10 7 | 10 7 9 qu;therre?l:urn quarter to points to nine and the
hour hand point t - i
10 | 10 9 10 9 9 8 9 8 8 our ?hne h%(i:: S pas Square-based Pyramid
Numbers to 1000 Multiplication and Division Language Place Value Columns %
100 one hundred 3x5=15 | factor/ multiplicand thousands | hundreds |~ tens ones Faces, Edges and Vertices . Edoe
200 two hundred 3x5=15 factor/ multiplier numeral 1000 100 10 ! Vertex
300 three hundred 3x5=15 product
400 four hundred 21+7=3 dividend % one half Part Whole & Derived Facts
ive hundre 21+7=3 divisor Symbols 1 I part + part = whole 3+5=8
600 six hundred 21+7=3 quotient X multiplied by z Part part + part = whole 5S+3=8
- z two thirds whole = part + part 8=3+5
- 3
700 seven hundred . divided by 1 Whole whole = part + part 8=5+3
800 | eight hundred < is less than 1 DGR whole - part = part 8-3=5
. . Part whole - part = part 8-5=3
i centimetre (cm) ina metre (m) | 100cm=1m i 3
900 nine hundred i (cm) (m) > is greater than 2 three quarters part = whole - part 5=8-3
1000 one thousand pence (p) in a pound (£) 100p = £1 - is equal to 1o, Yo =2, part = whole - part 3=8-5
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